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1 = EP VASVA=RT = 13 3/ 4 1:01. 04 27.90  9fk ( 0.69)
2 /N IKk— 7 AfRE 3 3/ 5 1:01.58 28.59  8fk ( 0.61)
3 I IFE Aa—L Tk H3 2/ 5 1:02. 1 29.17 8% ( 0.59)
4 JRH CHE o AL 3 3/ 2 1:02.98 29.38 Tk ( 0.70)
5 Bk aEA ALY PR e 2/ 3 1:02.99 29.16  10#f% ( 0.70)
6 4fms WARYS & 12 3/ 3 1:03. 11 28.71  8fk ( 0.69)
T O ERIR J S SiEH 1 2/ 1 1:03. 93 29.51 9%k ( 0.61)
8 # [+ S AH% 3 2/ 2 1:04.57 29.74 6k ( 0.64)
9 e x RERES 77 uAYE i Ml 2/ 1 1:09. 32 32.17  6#% ( 0.71)
10 AR HKR J SSERKR H1 1/ 5 1:10. 88 32.62  THk (1 0.72)
11 i PEAk FERE Y% 12 1/ 4 1:10. 89 32.52 6% ( 0.69)
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5 Bkl e AbevALIRREAE Bl 4/ 8 59. 47 27.75 9%k ( 0.65)
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